Class 9 Hindi Chapter 3 Tum kab Jaoge Atithi Important Questions

Answers at the Bottom

Ch-3 9 $q ST 3ifafy

1. R a1 gag eifafd 3 o avgre

2. JAFATA BT ST T AP D1 FT G s 3R N2

3. HAUSR B ARG BSHSH BT T A g2 TH Hd ST AfAf U6 & SR | g
4. G U AT P fearep &l ol A PI--1 BT R g7 T 3R iz

5. 3ifafy Feg adT et grar 98 A 3R A 372 H e o 8) Tebdl 81 TH P SIS,
3ffd? UT8 & SMYR TR HYF HI ARAT DT |

6. 3 & gER & Y 38R S & IR A  fovd 311> o6 1Y SHfAfy &1 bR fban
3R, forg U H?

7. 919 3fafd IR f&7 I T8 Ta1 dl TRaP & AdgR H FT-F1 URdc MT? 1 Ig URaa
el U?

8. FIdId B IBad! g gl & & & Gl B! I el W I JeR & HTHR Juag ISl § -
TH Hd SIS 3 UTE & YR TR HYU DT Y WY DI |

Ch-3 qH & ST 3ifafy

Answer

1. AR & garg Sfafd 3 Alugl § BUsg ¢ Bl Hgl Hifd a8 IUY hUs YaarT drgdl Tl

2. A BT STHT AT <G ARge A A fob I8 SHfAf 3@ uar 761 fovaq foT S ok 39
D TR I MH Foie Ht BRI B ST | SHBT HTHM T o1 oaed Dl €29 fadt
3T SHTRIBT Y YSH 33T




3. Y F T & SoR H GF & fo 9gd Ja-1 § o 38 I

4. AGH U AT Y fearens & =i ¥ aRRY dat XeT o7 | U1 b g S1faf &1 a8 FamT
1 X811 fob I &1 X8 U AT e Y& 81 1 & | ARG caoh X1G I 370 &R S
D1 TG 3T AW/

5. gfe Y UIST &R % feohdT § <l 98 <adl 9 -1 39T §, W R a8 Aq ®u H o1
ST 8 | ShT HIH-GHH Il §, 3R SU1eT fod a& fehd W ag e w1 U d ddl gl ad
g N1&Y oI g7 el d gl |

6. 3T o g o Hft 38R M & SR & A IR & HISH B d Bi TRAT U™ &1
3R IR H Rywn | aaes = 9 foh 39 a1g qRd Wi faars grftl ag sifafy &t
fIeT B W b S | ZT TR & 1Y g A g fo ot Sifafy &1 gpR foran|

7. 919 4fafd IR f&T g Tl 71 dl STD! MTHTT H HHI 318 | AWD & TdgR | gRadT 31
7| HieTe 4R-4R Siad & Saa a1 el o1 a1 e T iR Tt faw @@ g1 |
gfear o 3R feR A faas) &1 =M @ foranl ae o1 Sifafy dier-disT e/ udid g1
AT | T8 d [ aadh &1 7 I 71T 33T Hhe Pl & ol Y & o a7 ab S
TR TR &1 Foic [9TS a1 g | Hes & 9 H §a 3701 URIR UTdHT S gidT § a9
3Hfafy o1 T I3TA-I3Td AgHH & Ul sadeR H URad {1 WIS B |

8. AT 7 3AfAfY T R-uRaR, SR, Fip, Aokt fope, e, alar Faiem, Agms 8tk
R ATl a6 & faw & St ard R ot off | 3id I IR fawa e 8 g | Sl
= Tic favg 0 HHR & TR B b1 g 3118 A 3R 316 a8 id ysT | 39 Taeh1 SRl
Y BT TGP & TR dd THT dh 3H-1 UT| TGP B = o T fob afe Sifafy &1 a9
I1d1 H SI1ET 81 X9 T Y 98 3R SfF ST 3iR bR U 81 91 hRd-hRd 39 AiRvad +ft g4
ot &Y | ZHfeTT Ias! STadia WR faRma o T g3 Ul afe Sifafy Iy 9 g=i-g=i =rar i, o
gg fRufa st I =81 gl






